Talent
@ Education

MR 5THE—IR

BIRFRAIGEDE

Thinking as an economist

b Kt




About me

®Runhong Zhang

*4Frk SRR

®CFA Levell & SAS $HF#&

S5 REFHUHTIFIIA 5 F

¢ X FZERHAEZ B EENERRS TR
¢ SRR T EEIES




Introduction: i “TE[4EE 4"
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Limited resources — outputs (goods and services) Limited money —> consumption bundles

BT =)

Policies — affect the market Trade = external benefit and cost
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@ Thinking like an economist &3P EMIER @ Gains from Trade:
18 - PPF ZEF=mTREtEL:
- Opportunity Cost #Hl&m2 - Absolute Advantage 4334
- Sunk Cost JTiZAkAS - Comparative Advantage #E3ILES

- Marginal AFFEES - Term of trade ZZFAT
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- MIEERIESEERANZIE allocation of resources

* Scarcity:
when resources are limited, then not all demands can be satisfied

* FrLA, EATHEIGEE Tradeoff
- BEVEL

« Marginal Benefit vs Marginal Cost %




Opportunity Cost #l&m4~

« L ENX : Whatever must be given up to obtain an item. The cost of
the best alternative.

- BERG: ATHREHERAA, (FFAIEGFRRNME, B2 A BSEA
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* Key ideas:
* OC = Explict cost + implicit cost
* Next BEST alternative




@ RMRA Explicit Cost: @ BSR4 Implicit Cost:

I BRI MWL RTAREIAA , SR FREESIAIEMAIRA , WEERTHRAIRNEMA , #
B, I5R, i, AEE I 7 RINSRINES.



Sunk Cost RS

* A cost which cannot be avoided.
 {BURERT, ERIE, ANEETEREIRIEA!

e Sich
* Already paid and cannot be recovered.
 Have no choice but to pay in the future.
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Opportunity Cost
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Opportunity Cost
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Opportunity Cost
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Economics VS Accounting

* [UTFBENRAMUEEREERA, B - SFFENRATREEREERA, &
L LRISRANHEE (QAERTFHASE HE SRR RA
SRR AN )
* Accounting Cost = Explicit cost « Economics Cost is based on

Opportunity Cost
+ Economics Cost = Explicit cost + Implicit

cost
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PPF, Absolute and Comparative Advantage



Tradeoff in Production

© (FREZE, FNERIREFMTH): HE5AK
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Tradeoff in Production

* Opportunity Cost:
- WWEHI0: (RETHGTRY / (RARSEY

* OC of gold = 2 lumber: Z{RREEF—PMRMESE, BERERIG 7E~ 21
BNAMAINE

* OC of lumber = 0.5 gold

- MR OC —EEHiE %




FEFIRIFRMERIA T

ENBEA—PARFEE
. |Gold  |lumber
(SYN: 5 10

(output per each unit of input)

— PMERAYImFIEERNAD
. Jeold  [lumber
BPAMHRAD 0.2 0.1

(input per unit of output)



Production Possibility frontier

« EZEX : a curve which shows various « PIEN : —ERIRIR (IESRMR) K%
combinations of the amounts of two goods AREHET , RIYIRAEEEHES.

which can be produced within the given

resources and technology.



Production Possibility frontier
X2

AEFETEEHN R (BhE )

a: maximum production capacity of good?2.

a = total resources * output of good?2 per input

infeasible

b: maximum production capacity of good1.
(unattainable)

b = total resources * output of good1 per input

inefficient

slope: Opportunity Cost of good1 in terms of good?2.
RESEFT—HA] good1, BKEME 75 good




—RERIRIR : 40 BRAMR —ERIRAREMY: RFFE2RAR; BFF 1 RAR

BE . FRIFELTHE 60 AR BE . ERAHE , RFNE 1 8R-AR (FEEFERN

opportunity cost 2 ?)



Two Countries example

SIMAHEEZAE

| Lumber
(output per each unit of input)

Winterfell Il 4 3% 5 10
Highgarden /& /&2 6 18




Comparing two countries...

® E—HIRARITILR

® Absolute Advantage 43T :
® | ower actual cost/Higher efficiency EtA/N
® SEE has AAin both gold and lumber (—{MNEIZREJEHA both advantage)




Gains from Trade

« Comparative Advantage HBXI{LE :

- Lower Opportunity Cost L&A
* |If, : lower OC in gold; &EE : lower OC in lumber (—MNEZRARIBEHHE both
advantage)

* II&%23k : produces and exports gold; imports lumber

 [EXGERIAFIAY Term of Trade ( “price” of the trade): must be betwe

en the OC of two countries




Gains from Trade

» Cooperation: Both countries can gain by producing the good in whic
h they have comparative advantage, and trading with each other.

- B . 8PMERFIERFRAEE CENEEKAILE, FeLUAREER
&1E. Think in terms of Opportunity Cost!
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- BIRLLREREZSRT, BEMEDEHERERIR L, why?




Specialization and joint PPF

OSpecialization: R&F—HM=g3

Joint
Production
Possibilities

OTo produce one good, we start with
Frontier

the lowest OC producer

OSlope WMNEIA ™ OC WINBIX
O s A RN



Increasing slope PPF

@ In reality, PPF is not a straight line

@ Specialization of resources
& B (HASE, SLEEKINAXM,
FTLAFFRRY OC R, Z/EIBI8EX

@ Resources are not perfect substitutes.

@ Efficient: PPF &£ ER955 (A, B, E, F)
@ Resources #ABIEFIHS R SIE

Quantity of
Computers
Produced

1,000 Quantity of

Cars Produced




Shift of PPF

>EFZPR—RER . BREE

> Shift: EEELEAIFEHN

Al

» Movement along the curve: —%%

SRZIERIZE]

> Shifters: {FLFEEIRIEZ

Because of economics growth, PPC

will shift outward finally. 2%

. Technology A

Resources &R



Good A

Shift of PPF

Techological advance in producing
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Marginal Benefit and Cost




Marginal Analyisis

* Marginal: AR
- B RE—— M=
» Marginal Benefit 1fmlas : EII—ERARAWES
* Marginal Cost JFRAA : IEIN— AR ERINA

* $71C : Keep doing something as long as the Marginal Benefit is great
er or equal to the Marginal Cost.
- FMSKTFRRR, MEMHTR—!




Marginal Benefit

Downward sloping

XL : ZHRRRSE— T vs FTIEF



Marginal Cost

XIEE : ANBABHIDRZE vs AZUETF



Marginal Benefit vs. Marginal Cost

W Equilibrium: ZSHMINTAT, BT

HfER, TIRBRSEEENR (5
)

B Y& equilibrium: MB = MC

5

Marginal cost

Marginal benefit

Optimum

Activity



Total vs Average vs

2 F 3 RA SN
Marginal SRR
Number of Total
>Total BlEm : 2F— 1L, Blim— Evenings Benefit
Sl s e
2 $240
3 $330
4 $400
»>Average: 5 Marginal BEE#Ex 5 $450
6 $480
7 $490

»Marginal: 25—k EREE—EI®
%

OC of — ML = $40






